®

=

=~
c
<
1%
0
9
]
(o]
Q2
£
E
3
=
1%
w
o
2
w—
o
>
o
c
£

Mushroom
Operator’s Manual

Translation of the original

\&s\ g-601L.C

D
9,
e ,@v«\s
R Wi \\\N\\\s
NN A
,,,,N,,,”,,, %ﬁl’“’“ ...
,,:,,,@)..vqu ,“.lsss\. \ss\s\s\s\s“““\\\\\\sws\




flino

innovative schwimmbadtechnik

Table of contents

1 General information ... ——————————— 3
2 g o 7= T = 3
3 Safety iNStrUCHIONS......ccieeeeee s s 3
4 Description of the deviCe ... s 3
5 Technical data .........ccoceemiiiiimmmi e 4
6 PUMP CIrCUIT e 5
7 General descrplion ... —————————————— 6
8 11 1= T o Yo 1 o 6
8.1 Shuttering for water supply 90°/ concrete tile POOL............oovvieiiiiiiiiiiiieiee e 6
8.2 Installation process for 90° water supply / concrete tile pool .........cccoocveeiiiiiiiiiiiiieees 7
8.3 Shuttering for vertical water supply/

CONCIELE T POON.....eeeeeeee e e e e e e e e as 8
8.4 Installation process for vertical water supply / concrete tile pool ..........oooeiiiieeeeiiiiininee. 9
8.5 Shuttering for vertical water supply/

CONCIELE lINEI POOL...eeeiiiieee e 10
8.6 Installation process for vertical water supply / concrete liner pool...........cccoecveeeenneen. 11
8.7 Shuttering for vertical water supply/

concrete pool with brush-applied sealant............cceeovviiiiiiii 12
8.8 Installation process for vertical water supply/

concrete pool with brush-applied sealant...............ooooiiiii e 13
8.9 Installation process for vertical water supply/ subsequent installation.......................... 14
9 Spare parts Mushroom..............cccireiiiiimreeecceee e e e e e 15
9.1 Concrete tile pool / 90° Water SUPPIY ...ouereeeiiiiiee et 15
9.2 Concrete tile pool / vertical water SUPPIY ....c.cuveeveriiiieiiiiee e 16
9.3 Concrete liner pool / vertical water SUPPIY ......oveveiiiiiieiiee e 17
9.4 Concrete pool with brush-applied sealant / vertical water supply .........cccccoeeveriiieeeennee. 18
9.5 Subsequent installation / vertical water SUPPIY ....cooueeeeiiiiie e 19
2 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tibingen / Germany Version: 27109-B



OPERATOR’S MANUAL ﬂ‘mp

innovative schwimmbadtechnik

1 General information

This mushroom represents the state of the art. It has been manufactured with the greatest
care and is subject to continuous quality control.

This Operator's Manual contains important information to ensure the mushroom is
operated safely, properly, and economically. Your strict observance is necessary to
prevent dangers and ensure a long service life for the mushroom.

This Operator’'s Manual does not take into consideration local requirements. The operator
is responsible for ensuring these requirements are met, including personnel retained to
assemble the system.

2 Proper use

The mushroom was developed for use in public swimming pools. It can be used in both
indoor and outdoor pools.

The entire system or parts of it are not suitable for use in other systems.

Accordingly we explicitly instruct you only to use such parts or the entire system for their
intended purpose.

The mushroom must not be operated beyond the values specified in the technical data
(section 5). If you have any questions, please contact your Customer Service
representative or the manufacturer.

3 Safety instructions

Please read this Operating Manual carefully before installing the mushroom and placing it
in operation. Make certain you have understood everything.

The operator must ensure that

» the Operator’s Manual is always available for operating personnel

» the instructions in the Operator’'s Manual are observed

+ the mushroom is stopped immediately if any abnormal electrical voltages,
temperatures, noises, vibrations, leaks, or other faults occur.

4 Description of the device

fluvo offers various mushrooms as swimming pool attractions. They are a valuable and
attractive addition to any public pool. Pool-side parts are made of stainless steel and pool
installation parts are made of bronze and PVC.

Mushroom Schmalenberger GmbH + Co. KG 3
Version: 27109 - B D-72072 Tubingen / Germany



flinvo

innovative schwimmbadtechnik

OPERATOR'’S MANUAL

5 Technical data

Connection DN 125 (PVC)

Material Installation housing - 2.1096 / PVC (concrete tile pool or
concrete pool with brush-applied
sealant; also for subsequent
installation
- 1.4571 (concrete liner pool)

Fixing elements 1.4401 / 1.4571
Assembly kit 1.4571 (all types of pools)
Usage limits 1.4401 (max. 3000 mg/I CI”

1.4571 (max. 4500 mg/I CI)

Operating pressure

0.4 - 0.6 bar

Max. perm. pressure

0.8 bar

Curtain diameter @ 1500 mm @ 1800 mm @ 2300 mm
Flow rate 90 m3/h 120 m3/h 150 m3/h
4 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tibingen / Germany

Version: 27109 - B



OPERATOR’S MANUAL ﬂ‘mp

innovative schwimmbadtechnik

6 Pump circuit

Fig. 1

P1  Centrifugal pump

P2  Suction DN 100

P3  Suction-end shut-off unit
P4 Pipeline

P5 Mushroom

P6 Pressure-end shut-off unit

a 21500 mm /o 1800 mm /o 2300 mm
b 2200 mm
c o 256 mm

The centrifugal pump (P1) is non-self priming and must therefore be installed below the
pool water level. The water is drawn out of the pool through the suction connection (P2).
The intake quantity can be adjusted through the pressure-end shut-off unit (P6).

The suction-end shut-off unit (P3) must always be completely open while the system is in
operation. Water is directed through the pipe system (P4) to the mushroom (P5). An
additional shut-off unit (P6) is built into the pipe system (P4) for individual control of the flow
rate.

The water flows through the mushroom (P5) back into the swimming pool. The mushroom
can be started either by an air button located directly in the pool or from a control panel
outside the pool.

Mushroom Schmalenberger GmbH + Co. KG 5
Version: 27109 - B D-72072 Tubingen / Germany



ﬂ‘m@ OPERATOR'’S MANUAL

innovative schwimmbadtechnik

7 General description

The fluvo mushroom consists of an installation kit, an assembly kit and a fluvo standard
pump.

fluvo mushrooms are available in 3 different curtain sizes (a= o 1500 mm, 1800 mm, o
2300 mm) and for 4 different types of pools. The stand pipe height up to the bottom edge
of the umbrella isc= 2200 mm for all sizes.

Note!

i For curtain diameters of 1800 mm and 2300 mm, two DN 100 suction units
are required.

All parts in contact with media are designed for water quality according to DIN 19643.

8 Mushroom
8.1 Shuttering for water supply 90°/ concrete tile pool

Fasten the installation kit (01) onto the inside form wall (W) with the locking screws (02),
nuts (03) and distance washers (04).

Always fasten the installation kit (01) onto the reinforcement with the binding wire in
addition.

Before the concrete is brought in, the installation kit (01) must be installed to correct
dimensions and securely fastened so it cannot be moved between the form walls.

Note!
Make certain the installation kit (01) is resting fully against the form wall (W).

e

Before loosening the form wall (W), the
fastening parts that are no longer needed
(02, 03, 04) and the protective cap (H)
must be removed.

H Protective cap
w Form wall

o1 Installation kit
02 Locking screws
03 Nut

04 Distance washer

d= DN 125

6 Schmalenberger GmbH + Co. KG ~ Mushroom
D-72072 Tiibingen / Germany Version: 27109 - B



OPERATOR’S MANUAL ﬂ‘mp

innovative schwimmbadtechnik

8.2 Installation process for 90 ° water supply / concrete tile pool

Apply a layer of mortar (M) and tiles (F) almost up to the hold ring (I).

Fasten the stand pipe with foot flange (07) onto the installation kit (01) with hex. socket
head cap screws (08) and distance washers (09).

Pull the screen (12) over the stand pipe (07).

Place the screen (10) on the stand pipe (07) and adjust it so that the holes in the screen
(10) and those in the stand pipe (07) line up.

Fasten with counter-sunk screws (11).

F Tiles
/ Hold ring
M Mortar

o1 Installation kit

07 Stand pipe with foot flange
08 Hex. socket head cap screw
09 Distance washer

10 Screen

11 Counter-sunk screw

12 Screen

d= DN 125

)

stand pipe (07), seal both pipes with
DIRKO sealant.

Important:
/VN Before placing the screen (10) on the

Fig. 4

Mushroom Schmalenberger GmbH + Co. KG 7
Version: 27109 - B D-72072 Tubingen / Germany



ﬂ‘m@ OPERATOR'’S MANUAL

innovative schwimmbadtechnik

8.3 Shuttering for vertical water supply/
concrete tile pool

Fasten the installation kit (05) onto the form wall (W) with the locking screws (02), nuts (03)
and distance washers (04).

Always fasten the installation kit (05) onto the reinforcement with the binding wire in
addition.

Before the concrete is brought in, the installation kit (05) must be installed to correct
dimensions and securely fastened so it cannot be moved between the form walls.

Note!
i Make certain the installation kit (05) is resting fully against the form wall (W).

Before loosening the form wall (W), the fastening parts that are no longer needed (02, 03,
04) and the protective cap (H) must be removed.

H Protective cap
w Form wall
©05) 049 02 (03
02 Locking screws
03 Nut
- 04 Distance washer
2 gl > o> =2l > 05  Installation kit
20 S S P
[}
SO %é Dg@ 8 5 (03
OQ r a D) ) d= DN 125
=AY Nes) Qbo
Lo, 5 \ D Oiir o & 0o
(9<>O°db g 3% d%}ﬁOO
oSS A SR
J?Qo%bo o? :;ODQ Oéog
e 00D SN RS (e Xt ]
c‘oggvon :“D @ %S 09“0“
© P02
Fig. 5
8 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tiibingen / Germany Version: 27109 - B




OPERATOR’S MANUAL ﬂ‘mp

innovative schwimmbadtechnik

8.4 Installation process for vertical water supply / concrete tile pool

Apply a layer of mortar (M) and tiles (F) almost up to the hold ring (I).

Fasten the stand pipe with foot flange (07) onto the installation kit (05) with hex. socket
head cap screws (08) and distance washers (09).

Pull the screen (12) over the stand pipe (07).

Place the screen (10) on the stand pipe (07) and adjust it so that the holes in the screen
(10) and those in the stand pipe (07) line up.

Fasten with counter-sunk screws (11).

Tiles

F
/ Hold rin
09 08 (1) (05 Y Morar g
05 Installation kit

07 Stand pipe with foot flange
08 Hex. socket head cap screw

Qe (§I°0 by %‘g .
%Q%DO 09 Distance washer
g (q’?g,gg%og 4 10  Screen
(@] AN
SEED % 12 Screen
A 3X
o o080 : Q
Y O 0 g @
RSONY RSO d=DN 125
SO
e’ooo T —.5°

Fig. 6

Important:
ﬁ A Before placing the screen (10) on the

stand pipe (07), seal both pipes with
DIRKO sealant.

)

S @

Fig. 7

Mushroom Schmalenberger GmbH + Co. KG 9
Version: 27109 - B D-72072 Tubingen / Germany



fluwp OPERATOR'S MANUAL
innovative schwimmbadtechnik
8.5 Shuttering for vertical water supply/

concrete liner pool

Nail the installation kit (13) with fitting (C) securely onto the form wall (W).

Always fasten the installation kit (13) onto the reinforcement with the binding wire in
addition.

Before the concrete is brought in, the installation kit (13) must be installed to correct
dimensions and securely fastened so it cannot be moved between the form walls.

Note!
i Make certain the installation kit (13) is resting fully against the form wall (W).

Before loosening the form wall (W), the nails that are no longer needed and the protective
cap (H) must be removed.
Then remove the fitting (C) from the installation kit (13).

C Fitting
H Protective cap
w Form wall
CV% Q‘K %@ §D g@ 13 Installation kit
5 s , d=DN 125
& o
EQ&Q C) Q%Oo
=l0Y) 3 8955
A4 o 5o
oFO 2 = = 22000
005320 o S0
N=a o S
¢ 333“%83808 N 8805028388
Q>0 Y=Ro IO N0 (=957
Y o) O° Qbﬂ O° OOﬁOoo ]
< Oq‘-':é"? « @ > og?"o’é%o
Fig. 8
10 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tiibingen / Germany Version: 27109 - B




OPERATOR'’S MANUAL fI )

innovative schwimmbadtechnik
8.6 Installation process for vertical water supply / concrete liner pool

see Fig. 7, Fig. 9 and Fig. 10.

Pull the pool liner (L) over the flange (J) of the installation kit (13)

Place the clamp gasket (26) between the pool liner (L) and clamp ring (16).

Use the counter-sunk screws (17) to clamp the clamp ring (16) to the installation kit (13).
Cut out the pool liner (L) along the inside of the clamp ring (16).

Note!
i The clamp ring (16) must lie neatly and smoothly in place to facilitate clamping
without problems.

Place the screen (10) on the stand pipe
(07) and adjust it so that the holes in the
screen (10) and those in the stand pipe
(07) line up.

Fasten with counter-sunk screws (11).
Connect the two tile screens (22)
together using shackles (23) and fixing
elements (18, 24, 25).

Fig. 9

J Flange

L Pool liner
@% @% /@@ 07 Stand pipe
p \ —

10 Screen

N 11 Counter-sunk screw

Q [amn 13 Installation kit
Q A 1L 16 Clamp ring
A 17
At

Counter-sunk screw
18 Distance washer
22 Tile screen

23 Shackle
24 Screw
17) (@8 16 é@ 25 Nut

26 Clamp gasket

Fig. 10: N Detall d= DN 125

Mushroom Schmalenberger GmbH + Co. KG 11
Version: 27109 - B D-72072 Tubingen / Germany



fluwp OPERATOR’S MANUAL
8.7 Shuttering for vertical water supply/
concrete pool with brush-applied sealant

Fasten the installation kit (19) onto the form wall (W).

Always fasten the installation kit (19) onto the reinforcement with the binding wire in
addition.

Before the concrete is brought in, the installation kit (19) must be installed to correct
dimensions and securely fastened so it cannot be moved between the form walls.

Note!
i Make certain the installation kit (19) is resting fully against the form wall (W).

After loosening the form wall (W), the protective cap (H), which is no longer needed, must
be removed.

E Counter-sunk screw
H Protective cap
J Flange
19) (H Z J w Form wall
Z Flange
BT ST 19 Installation kit
o0’ 200 0 RO Qs &
O I R
00 OQ o 3 abgn
qucogg’g?b g 0@ a5 0 e d= DN 125
ORSESYEEN RIS,
¢ Jo S IE=N RO S
c?ogoo a i @ 'EbDO: 986
VD :520°
Fig. 11
12 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tiibingen / Germany Version: 27109 - B




OPERATOR'’S MANUAL

flinvo

innovative schwimmbadtechnik

8.8 Installation process for vertical water supply/
concrete pool with brush-applied sealant

see Fig. 7, Fig. 12 and Fig. 13.

The swimming pool can be lined with brush-applied sealant (S) up to the counter-sunk

screws (E) in the flange (2).

Note!

i The counter-sunk screws (E) must not be covered with sealant (S).

Then the pool can be tiled on the inside. Apply a layer of mortar (M) and tiles (F) almost up

to the counter-sunk screws (E) in the flange (Z).

S)M)(F) (07) (19 1)20)J)(Z
o vl
Q s
Qo’(g Dok Q 23 0%0 80:09 2
S s T RS
<o 0 3D 4 o 5 08
" PIS PSS
RN P SISOS
o9 Q? o
Q.Qg 2; °$>° ,‘?OD
°n°3 © @ LQoaég oa
°o.§o o%go" <3
Fig. 12

Fig. 13: N Detail

Mushroom
Version: 27109 - B

Remove the counter-sunk screws (E).
Fasten the stand pipe with foot flange
(07) onto the installation kit (19) with hex.
socket head cap screws (08) and
distance washers (09).

Pull the screen (12) over the stand pipe
(07).

Place the screen (10) on the stand pipe
(07) and adjust it so that the holes in the
screen (10) and those in the stand pipe
(07) line up.

Fasten with counter-sunk screws (11).

E Counter-sunk screw

F Tiles

M Mortar

S Brush-applied sealant

Z Flange

07 Stand pipe with foot flange
08 Hex. socket head cap screw
09 Distance washer

10 Screen

11 Counter-sunk screw

12 Screen

19 Installation kit

d= DN 125

Schmalenberger GmbH + Co. KG 13
D-72072 Tibingen / Germany



flinvo

innovative schwimmbadtechnik

OPERATOR'’S MANUAL

8.9 Installation process for vertical water supply/ subsequent installation

Drill a core hole with g 180 mm (f) through the pool wall.
Make a second hole from the inside of the pool with @ 360 mm (g) 150 mm (e) deep from

the front edge of the concrete.

Insert the installation kit (21) and fill the hole completely with epoxy resin (T).

T)©Q9 08 (I 21) (07) 42)(M) (F
Falo a Sal? a
S 08 o b A Y o)
*&D%a 1ISO%a D
SYJISAN N
=0 o' : L€)oo
Dq'o°o bcoo s P
RARES) SO0
SO S0
N SR NFo5s 5
R oUgs
o o e
0D 0 )QO °
= Q Vo
Lol

Fig. 14

Fasten the stand pipe with foot flange
(07) onto the installation kit (21) with hex.
socket head cap screws (08) and
distance washers (09).

Pull the screen (12) over the stand pipe
(07).

Place the screen (10) on the stand pipe
(07) and adjust it so that the holes in the
screen (10) and those in the stand pipe
(07) line up.

Fasten with counter-sunk screws (11).

Tiles
Mortar
Epoxy resin

N M

07 Stand pipe with foot flange
08 Hex. socket head cap screw
09 Distance washer

10 Screen

11 Counter-sunk screw

12 Screen

21 Installation kit

d= DN 125
e= 150 mm
. f=0 180 mm
Fig. 15 g= 0 360 mm
Important:
i Before placing the screen (10) on the stand pipe (07), seal both pipes with
DIRKO sealant.
14 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tibingen / Germany

Version: 27109 - B



SPARE PARTS

flinvo

innovative schwimmbadtechnik

9 Spare parts Mushroom
9.1 Concrete tile pool / 90° water supply
19
‘/‘_\
|
e[5> o0 7777777 ///////4/// 772G F R
p.o o0 %45 0 O o f ~—NIf 9 ¢ O
e o = Qe D Q% %Q ) | O C)QO O &
Qo InC 0 '\ N 6 > o\] o ?
Qyp 0000 \O \/ 4\ A S CD% ©
QS0 o8 O SN 2 O ©
Oa obqvoob & ODOQ
O o Q& OHREDPN AN E = NI
QLSRN °
CENGRYREAN oo o 2O
O JqeN oS00
2 % o= N © 2 dlso ¢
%Qog a § % 9 Dodao
Je 79 =78% 58
o = o
OOG(?U L U%S\Oo (|
Fig. 16: Concrete tile pool /90°water supply
Item |Order No. |Description Pieces| Comment
01 92593 Installation kit complete 90° 1
02 10925 Locking screws M12 3
03 12114 Nut M12 3
04 12380 Distance washer 3
07 57559 Stand pipe with foot flange 1
08 10848 Hex. socket head cap screw M12x35 6
09 12432 Distance washer 6
10.1  |56081 Screen g 1500 mm 1
10.2 |57560 Screen g 1800 mm 1
10.3 |58083 Screen g 2300 mm 1
11 10564 Counter-sunk screw M8x25 3
12 47886 Screen 1
Mushroom Schmalenberger GmbH + Co. KG 15

Version: 27109-B

D-72072 Tibingen / Germany



flivo

®

innovative schwimmbadtechnik

SPARE PARTS

9.2 Concrete tile pool / vertical water supply
«../_’\_’_
Pl “ Aaa - 8
_— z 7 a
] e L W [ T 99 A0 ]
TGO IR N Jo = iAo ‘*bcfoo"
&
5Q D k % >Q O Hhat =
= S oty — 2 oy O
Q g LoD ° 2 Z\= V. =0
o Y &0 ,a%0 % NN a°0 (500
Q TR %S) © g D (== < O S Q
Do 2 D © \Do @ 3 OD OO% ©
OOO@ DOQ (O)OOOQ%Q
Te o o <<)> ef(p é)q 0
&
GOO V) ©
N d
% S0
SifeoSyY
O ©
Fig. 17: Concrete tile pool / vertical water supply
Item [Order No. |Description Pieces| Comment
02 10925 Locking screws M12 3
03 12114 Nut M12 3
04 12380 Distance washer 3
05 91824 Installation kit complete straight 1
07 57559 Stand pipe with foot flange 1
08 10848 Hex. socket head cap screw M12x35 6
09 12432 Distance washer 6
10.1 56081 Screen g 1500 mm 1
10.2 |57560 Screen g 1800 mm 1
10.3 (58083 Screen g 2300 mm 1
11 10564 Counter-sunk screw M8x25 3
12 47886 Screen 1
16 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tibingen / Germany

Version: 27109-B



SPARE PARTS

flivo

®

innovative schwimmbadtechnik

9.3 Concrete liner pool / vertical water supply
@
OXE @ 25 T 7
.——/\__’_\'/’_\.
\
— R pamn
QOO A :/!JH =t (o)
D@ AVN\= = \ { \ = OO
SnOQ O o) oA 158 @9 o4
Rtk M ELian iniyd I SR
IO | U Ya
ODQ N o~ 5 [ & QQQC%
gbono MY A el 1920
Q C 2 \ OOG
IO TRs o ngé St
o DO DL N O% 08?
%DGQQO%OG; IDQQQOQCD o
O O&QD q D UO%Q b
<odpol____L____lo o>

Fig. 18: Concrete liner pool / vertical water supply

Item |Order No. |Description Pieces| Comment
07 57559 Stand pipe with foot flange 1

10.1 |56081 Screen g 1500 mm 1

10.2 [57560 Screen g 1800 mm 1

10.3 |58083 Screen g 2300 mm 1

11 10564 Counter-sunk screw M8x25 3

13 93670 Installation kit complete straight 1

16 56842 Clamp ring 1

17 10470 Hex. socket head cap screw M6x16 24

18 12416 Distance washer 6.4 x12x1.6 28

21 92594 Installation kit complete straight 1

22 57362 Tile screen 2

23 56868 Shackle 2

24 10448 Counter-sunk screw M6x20 4

25 12182 Nut M6 4

26 22116 Clamp gasket 1

Mushroom Schmalenberger GmbH + Co. KG 17

Version: 27109-B

D-72072 Tibingen / Germany



flivo

®

innovative schwimmbadtechnik

SPARE PARTS

9.4 Concrete pool with brush-applied sealant / vertical water supply
— T ——
' |
5 o8 A/ SHI Y. % ’//////é/// VAL XD
e O, A Q
0.4 °2 SN T ? f =NHF OQQQObOOCb
Ly < Qg Qe D Q/ %s Qﬁ 0] C:)Q & 9
>%05=0 =N% N 0 S0 2SO
Q=0 o8 o N 2 P o
Oa Obcpoob 0 QDOQ
@ ) @ N < -
< 0L 0 N ° I X
(o) %Qo (o N 0% (») 2
000% o N OQ% Ooo%
e o= N o) dleo ¢
Qg a § o Qo 000
Q2 @
SN YAR ALY
UORéIO L 0%900 (|

Fig. 19: Concrete pool with brush-applied sealant / vertical water supply

Item [Order No. |Description Pieces| Comment
07 57559 Stand pipe with foot flange 1

08 10848 Hex. socket head cap screw M12x35 6

09 12432 Distance washer 6

10.1 |56081 Screen g 1500 mm 1

10.2 |57560 Screen g 1800 mm 1

10.3 |58083 Screen g 2300 mm 1

11 10564 Counter-sunk screw M8x25 3

12 47886 Screen 1

19 92593 Installation kit complete straight 1

18 Schmalenberger GmbH + Co. KG Mushroom

D-72072 Tibingen / Germany

Version: 27109-B



flinvo

innovative schwimmbadtechnik

SPARE PARTS

9.5 Subsequent installation / vertical water supply

09 ©9

Version: 27109-B

D-72072 Tibingen / Germany

> P
lIQ Q o © a = I
AN SASA
Dg O D o )
bQOO o O O N S oz
@00@ GOQ N o N0
o ‘Z&DO P O% (o
S CAN q N ODQ%O
<e O Vo\_\ Lé, T 5 \ \Jd’ T O 6) <
oV o | | NSO
— Q0=
O O I ) o
—=Q | | | 00D
QD %) L_________I 5 o
Fig. 20: Subsequent installation / vertical water supply
Item |Order No. |Description Pieces| Comment
07 57559 Stand pipe with foot flange 1
08 10848 Hex. socket head cap screw M12x35 6
09 12432 Distance washer 6
10.1  |56081 Screen g 1500 mm 1
10.2 |57560 Screen g 1800 mm 1
10.3 |58083 Screen g 2300 mm 1
11 10564 Counter-sunk screw M8x25 3
12 47886 Screen 1
21 92594 Installation kit complete straight 1
Mushroom Schmalenberger GmbH + Co. KG




Importer:
U K Certikin International Ltd
C n 4 Tungsten Park
Colletts Way
Witney
Oxfordshire, OX29 0AZ

United Kingdom
www.certikin.co.uk

Manufacturer:

Schmalenberger GmbH + Co. KG Telefon: +49 (0)70717008 -0
Stromungstechnologie Telefax: +49 (0)7071 7008 - 10
Im Schelmen 9 - 11 Internet: www.fluvo.de

D-72072 Tubingen / Germany E-Mail: info@schmalenberger.de

© 2022 Schmalenberger GmbH + Co. KG ; All rights reserved
This document is subject to change without notice

Mushroom
Version: 27109 - B





